EARAROBEEIERT — 2 N— IBISH —F

2012464198 (K) SEIARHE2H

mﬂéi—?i‘;ﬂ C2— 5% ESR I
[A&4£] 1 7% :1,600,000  ~ 23 :480,000 33 :320,000  ~ 4 3#&:192,000 @ 5 7 :128,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NS . > EBH 140. —4-4- . — HHBEE (AafE)
N NEEPEEI=E > 6| LA 1(45))8 4-4-4-3 | 39.0 8 (5238) AT (el
R:val)—2ZAnM0—- B:NZ—-91F77T1— N-t:e ]
o S P FlEEX :40. —-2-1- . — NIRE (GFFD)
ol5| 5| N2L—2TLy T 4o 1(74?5? a9 ! ?_522) %g#n,@—grg
R:7VF%tx B:DdYvTI14-—> HET77—L
o4 | BIRER 1:42.4 7-7-7-7 | 40.1| — 7 466 | EEEEZ (1)
sl 3| N/ FEL— g 56.0 @ (-2) E’ﬁ‘ﬁii‘%
LTRA LTy RTFA B:vahi—-LTF1aT7 > ¥ @A
= = RN . —5-5— = EREHPB (H)
algliol FL5795 it 6 i 1;1%:;1 6-5-5-5 | 40.4 10 (4_517) e
R:HISF bt — BS-NL B
¢ : 44 | EEER 1:42.6 9-9-9-9 [39.9| — 6 520 | MAMEE (#a48)
5/7|8|/¥N7—7+—7—FK 5.0 a (+4) BRIAE
L7 RYA4¥ R B:214%70-5 AHH BE
o N RER 142, -1-1- . — 1EREERL (MiE)
cBo ~LESRTI YO e I B I s
R:ATOATATE BANLESRTLAZR ANIVES b T7—L
~ R RIAR : —7-7— - RS (AafE)
7 7l TzUuTFERT - it 4 xia 1(.14/22.>9 8-7-7-6 | 40.6 2 ;1_22) i
g/ xXLLy b B — H—L— - TvIS> « T7— LERSE
P A o4 | BOLH 1:43.1 1-11-11-10{ 39.1 | — 11 497 | BAE ()
8 6 v 56.0 (3/4) -2) FEIFERA
L:77NTZT BvU—Fv o FEEERIS
N IWHAfEX 144, -10-10- . — SRAE— (1l
ol7lo|7o5—1ruys 5 e 1(454)2 10-10-10-111 40.3 9 ;15325) iy
R:TZ274— B:hIATL BRRYUIS
4 o6 | Al 1:44.6 3-3-3-4 |43.2| — 4 | 497 | EFHF (A4E)
108|117V —T1Y— 5.0 @) Lo | BAME
R:edT7UE— B:Ry NT7HTFI— B W
SN _ = AR —1t : 56— — KBHEE (M)
11111 Ly R12H%=7+ o 56.0 § 1.(455).5 SEEs |43 ° 5:1) ARE=
R:Z242-1)>/0-2 B:HL7 Al g
® I —F—@EBIERL
13—F— 2,5,11,4,1,10,3,7,8,9,6
2= = 2,5,11,4,(1,10), (3,7),8,9,6
ga=7"= (2,5),11,4,10,1,(3,7),8,9,6
40—+ — 5,2,4,11,10,7,3,1,8,6,9
[ N3
B OB 4 3,730 714K 4-5 1,080H & 4-5 3,690 3EHE 3-4-5 9,150/
8 B 4 600 3-4 4,050 B 4-5 11,520 K31 4-5-3 102,020M
5 1309 3-5 590 B E 4-5 2,890
3 300F9 B H 4-5 10,2108

ABICOVWTRDTEEERROODE. TR LIV,




